## Bid #T2114027C1 - Intersection Improvements at Stirling Road and Dykes Road

Creation Date Feb 28, 2017 **End Date** May 26, 2017 2:00:00 PM EDT

Awarded Date Not Yet Awarded Start Date Apr 26, 2017 9:06:54 AM EDT

Providian Construction Group ✓

\$345,515.88 (56/56 items)

Bid Contact **Andrea Whilby** 

Address 10202 NW 47th Street mwright@providian construction.com

Sunrise, FL 33351 Ph 954-306-3687

Fax 954-756-7113 Supplier Code VC0000112609

Qualifications CBE DBE MBE SB SBE WBE

Agency Note	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
T2114027C1-	MOBILIZATION - First Offer	\$8,500.00	1 / lump sum	\$8,500.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-02	MAINTENANCE OF TRAFFIC · First Offer	\$2,000.00	1 / lump sum	\$2,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	LITTER REMOVAL AND DISPOSAL · First Offer	\$287.50	0.39 / acre	\$112.125
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-04	MOWING · First Offer	\$287.50	0.3 / acre	\$86.25
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	CLEARING AND GRUBBING - First Offer	\$725.00	1 / lump sum	\$725.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-06	REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer	\$13.23	21 / square yard	\$277.83
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	MILLING EXISTING ASPHALT PAVEMENT, 1 INCH AVERAGE DEPTH - First Offer	\$3.45	2322 / square yard	\$8,010.90
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-08	ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C - First Offer	\$212.75	127.7 / ton	\$27,168.175
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	CONCRETE CURB AND GUTTER, TYPE F · First Offer	\$21.85	274 / linear foot	\$5,986.90
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	

ersection Improvements	County Com	missioners		Page
T2114027C1- -01-10	CONCRETE SIDEWALK, 6 INCH THICK - First Offer	\$38.00	179 / square yard	\$6,802.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-11	DETECTABLE WARNINGS - First Offer	\$57.50	64 / square foot	\$3,680.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-12	PERFORMANCE TURF, SOD - First Offer	\$32.20	21 / square yard	\$676.20
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-13	REPAIR OF IRRIGATION SYSTEMS - First Offer	\$1,725.00	1 / lump sum	\$1,725.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-14 FURI	NISH AND INSTALL CONDUIT (OPEN TRENCH) - First Offer	\$6.60	93 / linear foot	\$613.80
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- FURN	NISH AND INSTALL CONDUIT (DIRECTIONAL BORE) - First Offer	\$20.90	938 / linear foot	\$19,604.20
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1-	FURNISH AND INSTALL SIGNAL CABLE - First Offer	\$5,500.00	1 / per intersection	\$5,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - FURNIS	SH AND INSTALL PULL AND SPLICE BOX - First Offer	\$660.00	29 / each	\$19,140.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
	SH AND INSTALL PULL AND SPLICE BOX · First Offer	\$1,210.00	1 / each	\$1,210.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-19	ELECTRICAL POWER SERVICE - First Offer	\$2,750.00	1/ assembly	\$2,750.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- FURN	NISH AND INSTALL ELECTRICAL SERVICE WIRE - First Offer	\$2.59	506 / linear foot	\$1,310.54
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
	TRICAL SERVICE DISCONNECT (POLE MOUNT) - First Offer	\$1,595.00	1 / each	\$1,595.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
	RESSED CONCRETE SERVICE POLE, TYPE P-11 · First Offer	\$1,650.00	2 / each	\$3,300.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-23	ALUMINUM PEDESTAL SIGNAL POLE - First Offer	\$1,100.00	8 / each	\$8,800.00
Product Code:		Supplier Product Co	de:	

Agency Notes:	Supplier Notes:		
T2114027C1 - INSTALL MAST ARM ASSEMBLY - First Offer -01-24	I I	).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL - First -01-25 Offer		).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-26 FURNISH AND INSTALL PEDESTRIAN SIGNAL · First Offer	\$1,320.00 8 / \$10,560 assembly	).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-27 VIDEO VEHICLE DETECTION SYSTEM CABINET EQUIPMENT - First Offer		5.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-28 VIDEO VEHICLE DETECTION SYSTEM - First Offer	\$3,850.00 4 / each \$15,400	).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-29 STANDARD PEDESTRIAN DETECTOR · First Offer	\$550.00 8 / each \$4,400	).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-30 AUDIBLE/TACTILE PEDESTRIAN DETECTOR · First Offer	\$2,420.00 8 / each \$19,360	).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-31 TRAFFIC CONTROL ASSEMBLY - First Offer	\$30,552.00 1 / \$30,552 assembly	2.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-32 WIRELESS COMMUNICATION DEVICE - First Offer	\$4,070.00 1 / each \$4,070	).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-33 FURNISH AND INSTALL SINGLE POST SIGN - First Offer	\$454.25   14 / \$6,359   assembly	).50	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-34 RELOCATE SINGLE POST SIGN - First Offer	\$115.00 1 / \$115 assembly	5.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - REMOVE SINGLE POST SIGN - First Offer -01-35	\$86.25 11 / \$948 assembly	3.75	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT) -01-36 First Offer		).00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - RETRO-REFLECTIVE PAVEMENT MARKER - First Offer -01-37	\$4.54 19 / each \$86	5.26	

isection improvemen	ts County Com	1111351011615		i age
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1-	RETRO-REFLECTIVE PAVEMENT MARKER - First Offer	\$4.54	51 / each	\$231.54
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-39	PAINTED PAVEMENT MARKINGS - First Offer	\$1,150.00	0.13 / gross mile	\$149.50
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1 - -01-40	PAINTED PAVEMENT MARKINGS - First Offer	\$0.45	566 / linear foot	\$254.70
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-41	PAINTED PAVEMENT MARKINGS · First Offer	\$0.55	630 / linear foot	\$346.50
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1 - -01-42	PAINTED PAVEMENT MARKINGS - First Offer	\$4,600.00	0.01 / gross mile	\$46.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-43	PAINTED PAVEMENT MARKINGS - First Offer	\$143.75	7 / each	\$1,006.25
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-44	PAINTED PAVEMENT MARKINGS - First Offer	\$414.00	0.07 / gross mile	\$28.98
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-45	PAINTED PAVEMENT MARKINGS - First Offer	\$0.69	47 / linear foot	\$32.43
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1 - RE	EMOVE THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$2.30	32 / square foot	\$73.60
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-47	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$1.27 	566 / linear foot	\$718.82
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1 - -01-48	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$1.04 	630 / linear foot	\$655.20
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1- -01-49	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$180.00	7 / each	\$1,260.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
T2114027C1 - -01-50	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$4,140.00	0.13 / gross mile	\$538.20
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	

iocollon improve	Sments County Com			- 3 -
T2114027C1- -01-51	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$1.09	47 / linear foot	\$51.23
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-52	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$10,350.00	0.01 / gross mile	\$103.50
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-53	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$9,200.00	0.07 / gross mile	\$644.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-54	TEMPORARY MULTI-POST SIGN (GROUND MOUNT) - First Offer	\$920.00	1/ assembly	\$920.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-55	AUDIO-VISUAL RECORDS - First Offer	\$2,875.00	1 / lump sum	\$2,875.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-56	PREMIUM FOR INSURANCE AND BONDS - First Offer	\$8,800.00	1 / lump sum	\$8,800.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	

WEEKLEY ASPHALT PAVING, INC. 🗸

\$390,049.80 (56/56 items)

Bid Contact June Stone

june@weekleyasp.com Ph 954-680-8005 Fax 954-680-8671 Address 20701 STIRLING RD PEMBROKE PINES, FL 33332

Dia Dolla	(Status, Matrioniz	ed on May 18, 2017)				
Agency Notes:				Supplier Notes:		
Item #	Line Item			Unit Price	Qty/Unit	Total Price
T2114027C1- -01-01		MOBILIZATION - Firs	st Offer	\$20,000.00	1 / lump sum	\$20,000.00
Product Code: Agency Notes:				Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-02	M	AINTENANCE OF TRAFFIC - Firs	st Offer	\$22,100.00	1 / lump sum	\$22,100.00
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T2114027C1- -01-03	LITTER	REMOVAL AND DISPOSAL - Firs	st Offer	\$50.00	0.39 / acre	\$19.50
Product Cod Agency Note				Supplier Product Code: Supplier Notes:		
T2114027C1- -01-04		MOWING - Firs	st Offer	\$100.00	0.3 / acre	\$30.00
Product Code: Agency Notes:				Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-05	C	LEARING AND GRUBBING - Fire	st Offer	\$17,010.00	1 / lump sum	\$17,010.00
Product Cod Agency Note	· <del>- ·</del>		Supplier Product Code: Supplier Notes:			

section improvements County Com	missioners Page
T2114027C1 - REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer -01-06	\$20.00 21 / \$420.00 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- MILLING EXISTING ASPHALT PAVEMENT, 1 INCH AVERAGE -01-07 DEPTH - First Offer	\$3.50 2322 / \$8,127.00 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1 - ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C - First -01-08 Offer	\$230.00   127.7 /   \$29,371.00 ton
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-09 CONCRETE CURB AND GUTTER, TYPE F · First Offer	\$35.55 274 / \$9,740.70 linear foot
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-10 CONCRETE SIDEWALK, 6 INCH THICK - First Offer	\$57.25   179 / \$10,247.75   square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1 - DETECTABLE WARNINGS - First Offer -01-11	\$29.00   64 / \$1,856.00   square foot
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1 - PERFORMANCE TURF, SOD - First Offer -01-12	\$3.10 21 / \$65.10 square yard
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1 - REPAIR OF IRRIGATION SYSTEMS - First Offer -01-13	\$500.00 1 / lump \$500.00 sum
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1 - FURNISH AND INSTALL CONDUIT (OPEN TRENCH) · First Offer	\$16.85 93 / linear \$1,567.05
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-15 FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE) - First Offer	\$21.95   938 / \$20,589.10   linear foot
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-16 FURNISH AND INSTALL SIGNAL CABLE · First Offer	\$9,926.00 1 / per \$9,926.00 intersection
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer -01-17	\$709.60 29 / each \$20,578.40
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer -01-18	\$1,616.00 1 / each \$1,616.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-19 ELECTRICAL POWER SERVICE - First Offer	\$1,452.00 1 / \$1,452.00 assembly
Product Code:	Supplier Product Code:

section Improveme	nts County Com	IIIISSIOTIETS		Page
Agency Notes:		Supplier Notes:		
T2114027C1 - -01-20	FURNISH AND INSTALL ELECTRICAL SERVICE WIRE - First Offer	\$6.00	506 / linear foot	\$3,036.00
		Supplier Product Code: Supplier Notes:		
T2114027C1 - E	LECTRICAL SERVICE DISCONNECT (POLE MOUNT) · First Offer	\$746.00	1 / each	\$746.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- PR	RESTRESSED CONCRETE SERVICE POLE, TYPE P-11 · First Offer	\$1,487.00	2 / each	\$2,974.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-23	ALUMINUM PEDESTAL SIGNAL POLE - First Offer	\$1,347.00	8 / each	\$10,776.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-24	INSTALL MAST ARM ASSEMBLY - First Offer	\$20,563.00	4 / each	\$82,252.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- FU -01-25	RNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL · First Offer	\$910.00	8 / assembly	\$7,280.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-26	FURNISH AND INSTALL PEDESTRIAN SIGNAL - First Offer	\$614.00	8 / assembly	\$4,912.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - VID	DEO VEHICLE DETECTION SYSTEM CABINET EQUIPMENT - First Offer	\$3,466.00	1 / each	\$3,466.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-28	VIDEO VEHICLE DETECTION SYSTEM - First Offer	\$4,632.00	4 / each	\$18,528.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-29	STANDARD PEDESTRIAN DETECTOR - First Offer	\$550.00	8 / each	\$4,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-30	AUDIBLE/TACTILE PEDESTRIAN DETECTOR - First Offer	\$1,394.00	8 / each	\$11,152.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-31	TRAFFIC CONTROL ASSEMBLY - First Offer	\$30,280.00	1/ assembly	\$30,280.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01 - 32	WIRELESS COMMUNICATION DEVICE - First Offer	\$895.00	1 / each	\$895.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-33	FURNISH AND INSTALL SINGLE POST SIGN - First Offer	\$400.00	14 / assembly	\$5,600.00

•	_	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- -01-34 RELOCATE SINGLE POST SIGN · First Off	er \$250.00 1 / \$250.00 assembly	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- REMOVE SINGLE POST SIGN - First Off	er \$20.00 11 / \$220.00 assembly	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT -01-36 First Of	·	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1 - RETRO-REFLECTIVE PAVEMENT MARKER - First Off	er \$5.00 19 / each \$95.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- RETRO-REFLECTIVE PAVEMENT MARKER - First Off-01-38	er \$5.00 51 / each \$255.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- PAINTED PAVEMENT MARKINGS - First Off-01-39	er \$1,000.00 0.13 / \$130.00 gross mile	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- PAINTED PAVEMENT MARKINGS - First Of -01-40	er \$1.00   566 /   \$566.00   linear foot	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1 - PAINTED PAVEMENT MARKINGS - First Ofi	er \$1.50   630 / \$945.00   linear foot	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- PAINTED PAVEMENT MARKINGS - First Off	er \$400.00 0.01 / \$4.00 gross mile	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- PAINTED PAVEMENT MARKINGS - First Of -01-43	er \$20.00 7 / each \$140.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- -01-44 PAINTED PAVEMENT MARKINGS - First Of	er \$1,000.00 0.07 / gross mile \$70.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- PAINTED PAVEMENT MARKINGS - First Off-01-45	\$1.00 <b>47 / linear</b> \$47.00 foot	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
T2114027C1- REMOVE THERMOPLASTIC PAVEMENT MARKINGS - Fi		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	

rsection Improve	ements County Com	missioners		Page
T2114027C1 - -01-47	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$2.00	566 / linear foot	\$1,132.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$3.00	630 / linear foot	\$1,890.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-49	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$50.00	7 / each	\$350.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-50	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$5,280.00	0.13 / gross mile	\$686.40
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-51	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$4.00	47 / linear foot	\$188.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-52	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$1,320.00	0.01 / gross mile	\$13.20
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-53	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$5,280.00	0.07 / gross mile	\$369.60
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	TEMPORARY MULTI-POST SIGN (GROUND MOUNT) - First Offer	\$4,000.00	1/ assembly	\$4,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	AUDIO-VISUAL RECORDS - First Offer	\$778.00	1 / lump sum	\$778.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:		
T2114027C1- -01-56	PREMIUM FOR INSURANCE AND BONDS - First Offer	\$5,460.00	1 / lump sum	\$5,460.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	

Russell Engineering 🗸 \$413,054.9997 (56/56 items) Address 10704 Portal Crossing Bid Contact George Russell Jr. brian.g@russellengineering.com Bradenton, FL 34211 Ph 941-757-0080 Supplier Code VC0000020447 Bid Bond (Status: Authorized on May 22, 2017) Supplier Notes: **Agency Notes:** Item # Line Item Unit Price Qty/Unit **Total Price** T2114027C1-MOBILIZATION - First Offer \$41,300.55 1 / lump \$41,300.55 -01-**01** 🗸 **Product Code:** Supplier Product Code: Supplier Notes: Agency Notes:

section Improvements County Com	missioners Page		
T2114027C1 - MAINTENANCE OF TRAFFIC - First Offer -01-02	\$55,013.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - LITTER REMOVAL AND DISPOSAL - First Offer -01-03	\$550.13 0.39 / acre \$214.5507		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - MOWING · First Offer -01-04	\$550.13 0.3 / acre \$165.039		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - CLEARING AND GRUBBING - First Offer -01-05	\$13,055.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - REMOVAL OF EXISTING CONCRETE PAVEMENT · First Offer -01-06	\$13.55 21 / \$284.55 square yard		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - MILLING EXISTING ASPHALT PAVEMENT, 1 INCH AVERAGE -01-07 DEPTH - First Offer	\$3.00 2322 / \$6,966.00 square yard		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C - First Offer	\$165.00 127.7 / \$21,070.50 ton		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - CONCRETE CURB AND GUTTER, TYPE F - First Offer -01-09	\$28.00 274 / \$7,672.00 linear foot		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - CONCRETE SIDEWALK, 6 INCH THICK - First Offer -01-10	\$50.00 179 / \$8,950.00 square yard		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - DETECTABLE WARNINGS - First Offer -01-11	\$32.50 64 / \$2,080.00 square foot		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - PERFORMANCE TURF, SOD - First Offer -01-12	\$30.00 21 / \$630.00 square yard		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - REPAIR OF IRRIGATION SYSTEMS - First Offer -01-13	\$413.55		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - FURNISH AND INSTALL CONDUIT (OPEN TRENCH) - First Offer	\$15.50 93 / linear \$1,441.50		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE) -01-15 First Offer	\$20.00   938 / \$18,760.00   linear foot		
Product Code:	Supplier Product Code:		

section improv	rements County Com			i age i
Agency Not	es:	Supplier Notes:		
T2114027C1- -01-16	FURNISH AND INSTALL SIGNAL CABLE - First Offer	\$9,000.00	1 / per intersection	\$9,000.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer	\$640.00	29 / each	\$18,560.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer	\$1,450.00	1 / each	\$1,450.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	1	\$1,355.00	1/ assembly	\$1,355.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	FURNISH AND INSTALL ELECTRICAL SERVICE WIRE - First Offer	\$5.50	506 / linear foot	\$2,783.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	ELECTRICAL SERVICE DISCONNECT (POLE MOUNT) - First Offer	\$675.00	1 / each	\$675.00
Product Cod Agency Not		Supplier Product Code: Supplier Notes:		
T2114027C1-	PRESTRESSED CONCRETE SERVICE POLE, TYPE P-11 - First Offer	\$1,355.00	2 / each	\$2,710.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	ALUMINUM PEDESTAL SIGNAL POLE - First Offer	\$1,250.00	8 / each	\$10,000.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	INSTALL MAST ARM ASSEMBLY - First Offer	\$18,550.00	4 / each	\$74,200.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL - First Offer	*	8 / assembly	\$6,560.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	FURNISH AND INSTALL PEDESTRIAN SIGNAL · First Offer	\$555.00	8 / assembly	\$4,440.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	VIDEO VEHICLE DETECTION SYSTEM CABINET EQUIPMENT - First Offer	\$3,120.00	1 / each	\$3,120.00
	Product Code: Agency Notes:		ode:	
T2114027C1-	VIDEO VEHICLE DETECTION SYSTEM - First Offer	\$4,200.00	4 / each	\$16,800.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	ode:	
T2114027C1-	STANDARD PEDESTRIAN DETECTOR · First Offer	\$500.00	8 / each	\$4,000.00

	Sinto Gounty Com			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	AUDIBLE/TACTILE PEDESTRIAN DETECTOR · First Offer	\$1,255.00	8 / each	\$10,040.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-31	TRAFFIC CONTROL ASSEMBLY · First Offer	\$27,500.00	1/ assembly	\$27,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-32	WIRELESS COMMUNICATION DEVICE · First Offer	\$805.00	1 / each	\$805.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-33	FURNISH AND INSTALL SINGLE POST SIGN · First Offer	\$350.00	14 / assembly	\$4,900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-34	RELOCATE SINGLE POST SIGN · First Offer	\$350.00	1/ assembly	\$350.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-35	REMOVE SINGLE POST SIGN - First Offer	\$25.00	11 / assembly	\$275.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-36	$\label{eq:continuous} \mbox{INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT)} - \mbox{First Offer}$		4 / each	\$9,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	RETRO-REFLECTIVE PAVEMENT MARKER - First Offer	\$4.00	19 / each	\$76.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	RETRO-REFLECTIVE PAVEMENT MARKER - First Offer	\$4.00	51 / each	\$204.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-39	PAINTED PAVEMENT MARKINGS - First Offer	\$1,500.00	0.13 / gross mile	\$195.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-40	PAINTED PAVEMENT MARKINGS - First Offer	\$1.50	566 / linear foot	\$849.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-41	PAINTED PAVEMENT MARKINGS · First Offer	\$2.00	630 / linear foot	\$1,260.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-42	PAINTED PAVEMENT MARKINGS - First Offer	\$500.00	0.01 / gross mile	\$5.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

rsection improvem	ents County Com	1111331011613		i age
T2114027C1- -01-43	PAINTED PAVEMENT MARKINGS - First Offer	\$50.00	7 / each	\$350.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-44	PAINTED PAVEMENT MARKINGS - First Offer	\$1,500.00	0.07 / gross mile	\$105.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-45	PAINTED PAVEMENT MARKINGS - First Offer	\$2.00	47 / linear foot	\$94.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
	REMOVE THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$47.00	32 / square foot	\$1,504.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-47	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$3.50	566 / linear foot	\$1,981.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-48	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$6.00	630 / linear foot	\$3,780.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-49	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$90.00	7 / each	\$630.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-50	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$3,750.00	0.13 / gross mile	\$487.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-51	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$5.50	47 / linear foot	\$258.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-52	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$1,050.00	0.01 / gross mile	\$10.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-53	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$3,750.00	0.07 / gross mile	\$262.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
<b>T2114027C1</b> - T	EMPORARY MULTI-POST SIGN (GROUND MOUNT) · First Offer	\$2,000.00	1/ assembly	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-55	AUDIO-VISUAL RECORDS - First Offer	\$550.00	1 / lump sum	\$550.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-56	PREMIUM FOR INSURANCE AND BONDS - First Offer	\$11,313.76	1 / lump sum	\$11,313.76
Product Code:		Supplier Product Co	de:	

Address 14877 SW 45th Court

Miramar, FL 33027

Agency Notes: Supplier Notes:

Jones Benitez Corporation 🗸

\$415,861.00 (56/56 items)

Bid Contact Jeff Jones

jeff@jonesbenitez.com

Ph 786-877-8766

Qualifications CBE DBE MBE SB SBE WBE
Bid Bond

• (Status: Authorized on May 26, 2017)

Bid Bond	(Status: Authorized on May 26, 2017)			
Agency Not	es:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
T2114027C1- -01-01	MOBILIZATION - First Offer	\$24,000.00	1 / lump sum	\$24,000.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-02	MAINTENANCE OF TRAFFIC - First Offer	\$16,000.00	1 / lump sum	\$16,000.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-03	LITTER REMOVAL AND DISPOSAL - First Offer	\$2,000.00	0.39 / acre	\$780.00
Product Coo Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-04	MOWING · First Offer	\$2,000.00	0.3 / acre	\$600.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-05	CLEARING AND GRUBBING · First Offer	\$4,500.00	1 / lump sum	\$4,500.00
Product Coo Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-06	REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer	\$32.00	21 / square yard	\$672.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	MILLING EXISTING ASPHALT PAVEMENT, 1 INCH AVERAGE DEPTH - First Offer	\$3.50	2322 / square yard	\$8,127.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C · First Offer	\$200.00	127.7 / ton	\$25,540.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-09	CONCRETE CURB AND GUTTER, TYPE F - First Offer	\$32.00	274 / linear foot	\$8,768.00
Product Cod Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-10	CONCRETE SIDEWALK, 6 INCH THICK - First Offer	\$46.00	179 / square yard	\$8,234.00
Product Coo Agency Not		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	DETECTABLE WARNINGS - First Offer	\$24.00	64 / square foot	\$1,536.00
Product Co	de:	Supplier Product Co	de:	

Agency Notes:	Supplier Notes:		
T2114027C1 - PERFORMANCE TURF, SOD · First Offer -01-12	\$3.00 21 / \$63.00 square yard		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - REPAIR OF IRRIGATION SYSTEMS - First Offer -01-13	\$2,000.00 1 / lump \$2,000.00 sum		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-14 FURNISH AND INSTALL CONDUIT (OPEN TRENCH) · First Offer	\$7.00 93 / linear \$651.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-15 FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE) -	\$24.00 938 / \$22,512.00 linear foot		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-16 FURNISH AND INSTALL SIGNAL CABLE - First Offer	\$5,400.00 1 / per s5,400.00 intersection		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer -01-17	\$700.00 29 / each \$20,300.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL PULL AND SPLICE BOX · First Offer -01-18	\$1,200.00 1 / each \$1,200.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-19 ELECTRICAL POWER SERVICE - First Offer	\$3,000.00 1 / \$3,000.00 assembly		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-20 FURNISH AND INSTALL ELECTRICAL SERVICE WIRE - First Offer	, , , , , , , , , , , , , , , , , , , ,		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- ELECTRICAL SERVICE DISCONNECT (POLE MOUNT) - First Offer	\$1,600.00 1 / each \$1,600.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1-PRESTRESSED CONCRETE SERVICE POLE, TYPE P-11 - First Offer	\$1,800.00 2 / each \$3,600.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- ALUMINUM PEDESTAL SIGNAL POLE · First Offer -01-23	\$1,200.00 8 / each \$9,600.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- INSTALL MAST ARM ASSEMBLY - First Offer -01-24	\$18,000.00 4 / each \$72,000.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL · First Offer	\$1,200.00 8 / \$9,600.00 assembly		

Supplier Product Code: Supplier Notes:
\$1,400.00 8 / \$11,200.00 assembly
Supplier Product Code: Supplier Notes:
\$12,000.00 1 / each \$12,000.00
Supplier Product Code: Supplier Notes:
\$4,000.00 4 / each \$16,000.00
Supplier Product Code: Supplier Notes:
\$600.00 8 / each \$4,800.00
Supplier Product Code: Supplier Notes:
\$2,300.00 8 / each \$18,400.00
Supplier Product Code: Supplier Notes:
\$30,000.00 1 / \$30,000.00 assembly
Supplier Product Code: Supplier Notes:
\$4,800.00 1 / each \$4,800.00
Supplier Product Code: Supplier Notes:
\$1,000.00 14 / \$14,000.00 assembly
Supplier Product Code: Supplier Notes:
\$450.00 1 / \$450.00 assembly
Supplier Product Code: Supplier Notes:
\$200.00 11 / \$2,200.00 assembly
Supplier Product Code: Supplier Notes:
\$2,800.00 4 / each \$11,200.00
Supplier Product Code: Supplier Notes:
\$3.00 19 / each \$57.00
Supplier Product Code: Supplier Notes:
\$3.00 51 / each \$153.00
Supplier Product Code: Supplier Notes:

ection Improve	ements County Com	missioners		Page
T2114027C1 - -01-39	PAINTED PAVEMENT MARKINGS - First Offer	\$4,000.00	0.13 / gross mile	\$520.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	PAINTED PAVEMENT MARKINGS · First Offer	\$3.00	566 / linear foot	\$1,698.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 -	PAINTED PAVEMENT MARKINGS · First Offer	\$2.00	630 / linear foot	\$1,260.00
Product Cod		Supplier Product Co	de:	
Agency Note T2114027C1- -01-42	PAINTED PAVEMENT MARKINGS · First Offer	Supplier Notes: \$6,000.00	0.01 / gross mile	\$60.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	3	
T2114027C1 -	PAINTED PAVEMENT MARKINGS · First Offer	\$100.00	7 / each	\$700.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-44	PAINTED PAVEMENT MARKINGS - First Offer	\$6,000.00	0.07 / gross mile	\$420.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-45	PAINTED PAVEMENT MARKINGS - First Offer	\$12.00	47 / linear foot	\$564.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	REMOVE THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$24.00	32 / square foot	\$768.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-47	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$2.00	566 / linear foot	\$1,132.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-48	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$24.00	630 / linear foot	\$15,120.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-49	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$6.00	7 / each	\$42.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-50	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$4,000.00	0.13 / gross mile	\$520.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-51	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$8.00	47 / linear foot	\$376.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
geney Note	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$4,000.00	0.01/	\$40.00

Agency Note	S:	Supplier Notes:			
T2114027C1- -01-53	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$4,000.00	0.07 / gross mile	\$280.00	
Product Cod	e:	Supplier Product Co	de:		
Agency Note	es:	Supplier Notes:			
T2114027C1-	TEMPORARY MULTI-POST SIGN (GROUND MOUNT) - First	\$1,800.00	1/	\$1,800.00	
-01-54	Offer		assembly		
Product Cod	Product Code:		Supplier Product Code:		
Agency Note	S:	Supplier Notes:			
T2114027C1- -01-55	AUDIO-VISUAL RECORDS · First Offer	\$3,500.00	1 / lump sum	\$3,500.00	
Product Cod	e:	Supplier Product Code:			
Agency Note	es:	Supplier Notes:			
T2114027C1- -01-56	PREMIUM FOR INSURANCE AND BONDS · First Offer	\$10,000.00	1 / lump sum	\$10,000.00	
Product Cod	Product Code: Supplier Product Code:				
Agency Note	S:	Supplier Notes:			

Suite 208

Hollywood, FL 33023

**AUM Construction** ✓

\$419,999.99 (56/56 items)

**Bid Contact** Patricia Gonzalez Address 6011 Rodman Street

> ho@auminc.us Ph 954-544-2656

Fax 786-558-7422

Qualifications CBE SBE

Bid Bond (Status: Authorized on May 25, 2017)

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
T2114027C1-	MOBILIZATION - First Offer	\$15,000.00	1 / lump sum	\$15,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	MAINTENANCE OF TRAFFIC - First Offer	\$17,588.74	1 / lump sum	\$17,588.74
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	LITTER REMOVAL AND DISPOSAL - First Offer	\$50.00	0.39 / acre	\$19.50
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
T2114027C1-	MOWING - First Offer	\$50.00	0.3 / acre	\$15.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
T2114027C1-	CLEARING AND GRUBBING - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-06	REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer	\$75.00	21 / square yard	\$1,575.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-07	MILLING EXISTING ASPHALT PAVEMENT, 1 INCH AVERAGE DEPTH - First Offer	\$6.00	2322 / square yard	\$13,932.00

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- ASPHALT CONCRETE FRICTION COURSE, TRAFFIC	C C - First Offer	\$220.00	127.7 / ton	\$28,094.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-09 CONCRETE CURB AND GUTTER, TYPE F - F	irst Offer	\$20.00	274 / linear foot	\$5,480.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-10 CONCRETE SIDEWALK, 6 INCH THICK - F	irst Offer	\$60.00	179 / square yard	\$10,740.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
<b>T2114027C1</b> 01-11 DETECTABLE WARNINGS · F	irst Offer	\$30.00	64 / square foot	\$1,920.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-12 PERFORMANCE TURF, SOD · F	irst Offer	\$10.00	21 / square yard	\$210.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-13 REPAIR OF IRRIGATION SYSTEMS · F	irst Offer	\$500.00	1 / lump sum	\$500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-14 FURNISH AND INSTALL CONDUIT (OPEN TRENC	CH) - First Offer	\$12.00	93 / linear foot	\$1,116.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL CONDUIT (DIRECTIONAL -01-15 F	BORE) -	\$35.00	938 / linear foot	\$32,830.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-16 FURNISH AND INSTALL SIGNAL CABLE - F	irst Offer	\$10,000.00	1 / per intersection	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- -01-17 FURNISH AND INSTALL PULL AND SPLICE BOX - F	irst Offer	\$900.00	29 / each	\$26,100.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1- FURNISH AND INSTALL PULL AND SPLICE BOX · F	irst Offer	\$1,500.00	1 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1 - ELECTRICAL POWER SERVICE - F	irst Offer	\$3,000.00	1/ assembly	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- FURNISH AND INSTALL ELECTRICAL SERVICE WI	RE - First Offer	\$5.00	506 / linear foot	\$2,530.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	

T2114027C101-21  ELECTRICAL SERVICE DISCONNECT (POLE MOUNT) - First Offer	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- PRESTRESSED CONCRETE SERVICE POLE, TYPE P-11 - First Offer	\$2,000.00 2 / each \$4,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-23 ALUMINUM PEDESTAL SIGNAL POLE - First Offer	\$1,300.00 8 / each \$10,400.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-24 INSTALL MAST ARM ASSEMBLY - First Offer	\$25,000.00 4 / each \$100,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL · First Offer	\$1,000.00 8 / \$8,000.00 assembly
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-26 FURNISH AND INSTALL PEDESTRIAN SIGNAL · First Offer	\$700.00 8 / \$5,600.00 assembly
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- VIDEO VEHICLE DETECTION SYSTEM CABINET EQUIPMENT -01-27 · First Offer	\$10,000.00 1 / each \$10,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-28 VIDEO VEHICLE DETECTION SYSTEM - First Offer	\$3,500.00 4 / each \$14,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-29 STANDARD PEDESTRIAN DETECTOR · First Offer	\$100.00 8 / each \$800.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-30 AUDIBLE/TACTILE PEDESTRIAN DETECTOR - First Offer	\$2,500.00 8 / each \$20,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-31 TRAFFIC CONTROL ASSEMBLY - First Offer	\$30,000.00 1 / \$30,000.00 assembly
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-32 WIRELESS COMMUNICATION DEVICE - First Offer	\$600.00 1 / each \$600.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-33 FURNISH AND INSTALL SINGLE POST SIGN · First Offer	\$600.00 14 / \$8,400.00 assembly
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
T2114027C1- -01-34 RELOCATE SINGLE POST SIGN - First Offer	\$50.00 1 / \$50.00 assembly
Product Code:	Supplier Product Code:

Agency Notes:	Since Startly Start	Supplier Notes:		. 491
T2114027C1 - -01-35	REMOVE SINGLE POST SIGN · First Offer	\$20.00	11 / assembly	\$220.00
Product Code:		Supplier Product Code:		
Agency Notes: T2114027C1- -01-36	INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT) - First Offer	Supplier Notes: \$3,200.00	4 / each	\$12,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-37	RETRO-REFLECTIVE PAVEMENT MARKER - First Offer	\$6.00	19 / each	\$114.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-38	RETRO-REFLECTIVE PAVEMENT MARKER - First Offer	\$6.00	51 / each	\$306.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-39	PAINTED PAVEMENT MARKINGS - First Offer	\$900.00	0.13 / gross mile	\$117.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-40	PAINTED PAVEMENT MARKINGS · First Offer	\$1.25	566 / linear foot	\$707.5
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-41	PAINTED PAVEMENT MARKINGS - First Offer	\$1.75	630 / linear foot	\$1,102.5
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - -01-42	PAINTED PAVEMENT MARKINGS - First Offer	\$400.00	0.01 / gross mile	\$4.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-43	PAINTED PAVEMENT MARKINGS · First Offer	\$25.00	7 / each	\$175.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-44	PAINTED PAVEMENT MARKINGS - First Offer	\$800.00	0.07 / gross mile	\$56.0
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-45	PAINTED PAVEMENT MARKINGS · First Offer	\$1.25	47 / linear foot	\$58.75
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-46	REMOVE THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$11.00	32 / square foot	\$352.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-47	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$2.25	566 / linear foot	\$1,273.5
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$3.25	630 / linear foot	\$2,047.50

rsection improveme	nis County Com	IIIISSIOTICIS		raye 2
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-49	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$55.00	7 / each	\$385.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-50	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$7,000.00	0.13 / gross mile	\$910.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-51	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$3.00	47 / linear foot	\$141.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-52	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$2,500.00	0.01 / gross mile	\$25.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-53	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$6,500.00	0.07 / gross mile	\$455.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - TE	MPORARY MULTI-POST SIGN (GROUND MOUNT) - First Offer	\$250.00	1/ assembly	\$250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-55	AUDIO-VISUAL RECORDS · First Offer	\$500.00	1 / lump sum	\$500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-56	PREMIUM FOR INSURANCE AND BONDS · First Offer	\$7,000.00	1 / lump sum	\$7,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

Signal Ted	chnology Inc 🗸		\$576,69	99.23	(56/56 items)	
	Susan Marks A smarks@sti-fl.com Ph 954-327-2434 Fax 954-327-3375	Address FORT LAUDERDALE, FL 33314				
Bid Bond Bid Notes	(Status, Arrend occurred during verification, Bond Not Found)					
Agency Notes:		<b>Supplier Notes:</b> Guy Hurley Insurance & Surety Services Bond through Liberty Mutual Insurance Company Certificate No 7708032			,	
Item #	Line Item	Unit Price	Qty/Unit		Total Price	
T2114027C1- -01-01	MOBILIZATION - First Offer	\$32,577.00	1 / lump sum		\$32,577.00	
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:			
T2114027C1- -01-02	MAINTENANCE OF TRAFFIC - First Offer	\$41,386.00	1 / lump sum		\$41,386.00	

		Supplier Product Code: Supplier Notes:		
LITTER REMOVAL AND DISPOSAL · First Offer	\$40.00	0.39 / acre	\$15.6	
		Supplier Product Code: Supplier Notes:		
MOWING - First Offer	\$225.00	0.3 / acre	\$67.5	
e: s:	Supplier Product Code:			
CLEARING AND GRUBBING - First Offer	\$13,252.00	1 / lump sum	\$13,252.0	
e: s:		de:		
REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer	\$67.00	21 / square yard	\$1,407.0	
e: s:	Supplier Product Co Supplier Notes:	de:		
MILLING EXISTING ASPHALT PAVEMENT, 1 INCH AVERAGE DEPTH - First Offer	\$7.00	2322 / square yard	\$16,254.0	
e: s:	Supplier Product Co Supplier Notes:	de:		
ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C · First Offer	\$238.00	127.7 / ton	\$30,392.6	
Product Code:		Supplier Product Code: Supplier Notes:		
CONCRETE CURB AND GUTTER, TYPE F - First Offer	\$42.00	274 / linear foot	\$11,508.0	
e: s:		de:		
CONCRETE SIDEWALK, 6 INCH THICK - First Offer	\$73.00	179 / square yard	\$13,067.0	
e: s:	Supplier Product Co Supplier Notes:	de:		
DETECTABLE WARNINGS - First Offer	\$74.00	64 / square foot	\$4,736.0	
e: s:	Supplier Product Co Supplier Notes:	de:		
PERFORMANCE TURF, SOD - First Offer	\$135.00	21 / square yard	\$2,835.0	
e: s:				
REPAIR OF IRRIGATION SYSTEMS - First Offer	\$6,050.00	1 / lump sum	\$6,050.0	
-01-13  Product Code: Agency Notes:		I		
FURNISH AND INSTALL CONDUIT (OPEN TRENCH) - First Offer	\$10.00	93 / linear foot	\$930.0	
e: s:	Supplier Product Co Supplier Notes:	de:		
FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE) - First Offer	\$29.00	938 / linear foot	\$27,202.0	
	LITTER REMOVAL AND DISPOSAL · First Offer  LITTER REMOVAL AND DISPOSAL · First Offer  LITTER REMOVAL AND DISPOSAL · First Offer  LITTER REMOVAL OF EXIST OFFER  CLEARING AND GRUBBING · First Offer  LITTER REMOVAL OF EXIST OFFER  LITTER REMOVAL OFFER OFFER  CLEARING AND GRUBBING · First Offer  LITTER REMOVAL OFFER OFFER  LITTER REMOVAL · First Offer  LITTER REMOVAL	LITTER REMOVAL AND DISPOSAL - First Offer  LITTER REMOVAL AND DISPOSAL - First Offer  Supplier Product Co Supplier Notes:  MOWING - First Offer  Supplier Product Co Supplier Notes:  CLEARING AND GRUBBING - First Offer  CLEARING AND GRUBBING - First Offer  Supplier Product Co Supplier Notes:  REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer  Supplier Product Co Supplier Notes:  Supplier Product Co Supplier Notes:  Supplier Product Co Supplier Notes:  CONCRETE FRICTION COURSE, TRAFFIC C - First Offer  CONCRETE CURB AND GUTTER, TYPE F - First Offer  CONCRETE SIDEWALK, 6 INCH THICK -	Supplier Notes:  LITTER REMOVAL AND DISPOSAL - First Offer  Supplier Product Code: Supplier Notes:  MOWING - First Offer  Supplier Product Code: Supplier Notes:  CLEARING AND GRUBBING - First Offer  Supplier Product Code: Supplier Product Code: Supplier Notes:  CLEARING AND GRUBBING - First Offer  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  REMOVAL OF EXISTING CONCRETE PAVEMENT - First Offer  Supplier Product Code: Supplier Notes:  Supplier Notes:  CONCRETE FRICTION COURSE, TRAFFIC C - First Offer  Supplier Notes:  CONCRETE CURB AND GUTTER, TYPE F - First Offer  Supplier Notes:  CONCRETE SIDEWALK, 6 INCH THICK - First Offer  Supplier Notes:  CONCRETE SIDEWALK, 6 INCH THICK - First Offer  Supplier Notes:  CONCRETE SIDEWALK, 6 INCH THICK - First Offer  Supplier Notes:  CONCRETE SIDEWALK, 6 INCH THICK - First Offer  Supplier Notes:  Supplier Product Code: Supplier Notes:  PERFORMANCE TURF, SOD - First Offer  Supplier Product Code: Supplier Notes:  PERFORMANCE TURF, SOD - First Offer  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  PERFORMANCE TURF, SOD - First Offer  Supplier Product Code: Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:  Su	

أراها المراجعة	I I		
-01-16	intersection		
Product Code:	Supplier Product Code:		
Agency Notes:	Supplier Notes: \$681.00   29 / each   \$19.749.00		
T2114027C1 - FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer -01-17			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer -01-18	\$1,110.00 1 / each \$1,110.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - ELECTRICAL POWER SERVICE - First Offer -01-19			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - FURNISH AND INSTALL ELECTRICAL SERVICE WIRE - First -01-20 Offer			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - ELECTRICAL SERVICE DISCONNECT (POLE MOUNT) - First -01-21 Offer			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- PRESTRESSED CONCRETE SERVICE POLE, TYPE P-11 - First -01-22 Offer			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - ALUMINUM PEDESTAL SIGNAL POLE · First Offer -01-23	\$1,002.00 8 / each \$8,016.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-24 INSTALL MAST ARM ASSEMBLY - First Offer	\$19,228.00 4 / each \$76,912.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL - First -01-25 Offer			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - FURNISH AND INSTALL PEDESTRIAN SIGNAL · First Offer -01-26	\$593.00 8 / \$4,744.00 assembly		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - VIDEO VEHICLE DETECTION SYSTEM CABINET EQUIPMENT -01-27 - First Offer			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- VIDEO VEHICLE DETECTION SYSTEM - First Offer	1 1		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- STANDARD PEDESTRIAN DETECTOR · First Offer			
Product Code:	Supplier Product Code:		

				- 3 -
T2114027C1-	AUDIBLE/TACTILE PEDESTRIAN DETECTOR · First Offer	\$1,396.00	8 / each	\$11,168.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-31	TRAFFIC CONTROL ASSEMBLY · First Offer	\$26,236.00	1/ assembly	\$26,236.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-32	WIRELESS COMMUNICATION DEVICE - First Offer	\$1,126.00	1 / each	\$1,126.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	FURNISH AND INSTALL SINGLE POST SIGN · First Offer	\$1,025.00	14 / assembly	\$14,350.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-34	RELOCATE SINGLE POST SIGN - First Offer	\$246.00	1 / assembly	\$246.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-35	REMOVE SINGLE POST SIGN - First Offer	\$182.00	11 / assembly	\$2,002.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-36	INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT) - First Offer	\$2,017.00	4 / each	\$8,068.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1-	RETRO-REFLECTIVE PAVEMENT MARKER - First Offer	\$10.00	19 / each	\$190.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1-	RETRO-REFLECTIVE PAVEMENT MARKER · First Offer	\$10.00	51 / each	\$510.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-39	PAINTED PAVEMENT MARKINGS - First Offer	\$3,387.00	0.13 / gross mile	\$440.31
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-40	PAINTED PAVEMENT MARKINGS - First Offer	\$2.00	566 / linear foot	\$1,132.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-41	PAINTED PAVEMENT MARKINGS - First Offer	\$3.00	630 / linear foot	\$1,890.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-42	PAINTED PAVEMENT MARKINGS · First Offer	\$3,388.00	0.01 / gross mile	\$33.88
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-43	PAINTED PAVEMENT MARKINGS · First Offer	\$26.00	7 / each	\$182.00

Product Code:	Supplier Product Code: Supplier Notes:		
Agency Notes:  T2114027C1- PAINTED PAVEMENT MARKINGS · First Offer	1 1		
-01-44	gross mile		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- PAINTED PAVEMENT MARKINGS · First Offer -01-45	\$2.00 47 / linear \$94.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- REMOVE THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$3,842.00 32 / \$122,944.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - THERMOPLASTIC PAVEMENT MARKINGS · First Offer -01-47	\$4.00   566 /   \$2,264.00   linear foot		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - THERMOPLASTIC PAVEMENT MARKINGS - First Offer -01-48	\$7.00 630 / \$4,410.00 linear foot		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- THERMOPLASTIC PAVEMENT MARKINGS · First Offer -01-49	\$97.00 7 / each \$679.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-50 THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$5,418.00 0.13 / \$704.34 gross mile		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-51 THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$5.00 47 / linear \$235.00 foot		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-52 THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$5,758.00 0.01 / \$57.58 gross mile		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-53 THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$5,419.00 0.07 / \$379.33 gross mile		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- TEMPORARY MULTI-POST SIGN (GROUND MOUNT) - First Offer	\$3,576.00 1/ \$3,576.00		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1 - AUDIO - VISUAL RECORDS - First Offer -01 -55	\$1,856.00 1 / lump \$1,856.00 sum		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
T2114027C1- -01-56 PREMIUM FOR INSURANCE AND BONDS · First Offer	1 1		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		

Midasco, LLC 🗸

\$588,631.00 (56/56 items)

Bid Contact Dennis Goldberger
dgoldberger@midasco.net

Address 7121 Dorsey Run Rd Elkridge, MD 21075

Complian Nation			
Supplier Notes:			
Unit Price Oty/Unit Total Price			
\$55,000.00 1 / lump \$55,000.00 sum			
Supplier Product Code: Supplier Notes:			
\$40,000.00 1 / lump \$40,000.00 sum			
Supplier Product Code: Supplier Notes:			
\$5,000.00 0.39 / acre \$1,950.00			
Supplier Product Code: Supplier Notes:			
\$6,600.00 0.3 / acre \$1,980.00			
Supplier Product Code: Supplier Notes:			
\$30,000.00 1 / lump \$30,000.00 sum			
Supplier Product Code: Supplier Notes:			
\$280.00 21 / \$5,880.00 square yard			
Supplier Product Code: Supplier Notes:			
\$6.50 2322 / \$15,093.00 square yard			
Supplier Product Code: Supplier Notes:			
\$260.00   127.7 / \$33,202.00 ton			
Supplier Product Code: Supplier Notes:			
\$65.00 274 / \$17,810.00 linear foot			
Supplier Product Code: Supplier Notes:			
\$90.00 179 / \$16,110.00 square yard			
Supplier Product Code: Supplier Notes:			
\$70.00 64 / \$4,480.00 square foot			
Supplier Product Code: Supplier Notes:			
\$35.00 21 / \$735.00 square yard			

isection improve	ements County Com	1111551011615		i age
Product Cod		Supplier Product Co	de:	
Agency Note		Supplier Notes:	T	
T2114027C1- -01-13	REPAIR OF IRRIGATION SYSTEMS - First Offer	\$1,500.00	1 / lump sum	\$1,500.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
T2114027C1 -	FURNISH AND INSTALL CONDUIT (OPEN TRENCH) - First Offer	\$21.00	93 / linear foot	\$1,953.00
Product Cod	de:	Supplier Product Co	de:	
Agency Note	es:	Supplier Notes:		
T2114027C1 - -01 - 15	FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE) - First Offer	\$29.00	938 / linear foot	\$27,202.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-16	FURNISH AND INSTALL SIGNAL CABLE · First Offer	\$7,900.00	1 / per intersection	\$7,900.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer	\$1,200.00	29 / each	\$34,800.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01 - 18	FURNISH AND INSTALL PULL AND SPLICE BOX - First Offer	\$1,900.00	1 / each	\$1,900.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01 - 19	ELECTRICAL POWER SERVICE - First Offer	\$3,350.00	1 / assembly	\$3,350.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-20	FURNISH AND INSTALL ELECTRICAL SERVICE WIRE - First Offer	\$6.00	506 / linear foot	\$3,036.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-21	ELECTRICAL SERVICE DISCONNECT (POLE MOUNT) - First Offer	\$900.00	1 / each	\$900.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-22	PRESTRESSED CONCRETE SERVICE POLE, TYPE P-11 - First Offer	\$1,550.00	2 / each	\$3,100.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-23	ALUMINUM PEDESTAL SIGNAL POLE · First Offer	\$1,200.00	8 / each	\$9,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-24	INSTALL MAST ARM ASSEMBLY - First Offer	\$30,000.00	4 / each	\$120,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-25	FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL - First Offer	\$1,000.00	8 / assembly	\$8,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
T2114027C1-	FURNISH AND INSTALL PEDESTRIAN SIGNAL · First Offer	\$860.00	8 /	\$6,880.00

section improvements	County Com			1 age 2	
-01- <b>26</b>			assembly		
		Supplier Product Code:			
Agency Notes:		Supplier Notes:	T T	****	
T2114027C1- VIDEO VEHICLE DETE -01-27	CTION SYSTEM CABINET EQUIPMENT - First Offer	\$14,500.00	1 / each	\$14,500.00	
		Supplier Product Code: Supplier Notes:			
T2114027C1- -01-28 VIDEO VEH	ICLE DETECTION SYSTEM - First Offer	\$3,500.00	4 / each	\$14,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T2114027C1- STANDARD	PEDESTRIAN DETECTOR - First Offer	\$250.00	8 / each	\$2,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- -01-30 AUDIBLE/TACTILE	PEDESTRIAN DETECTOR - First Offer	\$1,300.00	8 / each	\$10,400.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- -01-31	FIC CONTROL ASSEMBLY - First Offer	\$30,000.00	1/ assembly	\$30,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T2114027C1- -01-32 WIRELESS (	COMMUNICATION DEVICE - First Offer	\$1,250.00	1 / each	\$1,250.00	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:		
T2114027C1- -01-33 FURNISH AND INS	STALL SINGLE POST SIGN - First Offer	\$800.00	14 / assembly	\$11,200.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T2114027C1- -01-34 RELC	OCATE SINGLE POST SIGN - First Offer	\$600.00	1/ assembly	\$600.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- -01-35	MOVE SINGLE POST SIGN - First Offer	\$100.00	11 / assembly	\$1,100.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- INTERNALLY ILLUM -01-36	MINATED SIGN (OVERHEAD MOUNT) - First Offer	\$3,250.00	4 / each	\$13,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- -01-37 RETRO-REFLEC	TIVE PAVEMENT MARKER - First Offer	\$8.00	19 / each	\$152.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- -01-38 RETRO-REFLEC	TIVE PAVEMENT MARKER - First Offer	\$8.00	51 / each	\$408.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T2114027C1- -01-39 PAINTE	D PAVEMENT MARKINGS - First Offer	\$2,200.00	0.13 / gross mile	\$286.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

section improveme	ents County Com	IIIISSIONEIS		i age .
T2114027C1- -01-40	PAINTED PAVEMENT MARKINGS - First Offer	\$1.00	566 / linear foot	\$566.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - -01-41	PAINTED PAVEMENT MARKINGS - First Offer	\$1.50	630 / linear foot	\$945.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - -01-42	PAINTED PAVEMENT MARKINGS - First Offer	\$600.00	0.01 / gross mile	\$6.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-43	PAINTED PAVEMENT MARKINGS - First Offer	\$35.00	7 / each	\$245.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-44	PAINTED PAVEMENT MARKINGS - First Offer	\$2,200.00	0.07 / gross mile	\$154.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-45	PAINTED PAVEMENT MARKINGS - First Offer	\$2.00	47 / linear foot	\$94.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - -01-46	REMOVE THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$100.00	32 / square foot	\$3,200.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-47	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$5.00	566 / linear foot	\$2,830.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - -01-48	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$10.00	630 / linear foot	\$6,300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-49	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$125.00	7 / each	\$875.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-50	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$12,500.00	0.13 / gross mile	\$1,625.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1- -01-51	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$7.00	47 / linear foot	\$329.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1- -01-52	THERMOPLASTIC PAVEMENT MARKINGS · First Offer	\$3,000.00	0.01 / gross mile	\$30.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
T2114027C1 - -01-53	THERMOPLASTIC PAVEMENT MARKINGS - First Offer	\$12,500.00	0.07 / gross mile	\$875.00

		Supplier Product Code: Supplier Notes:		
T2114027C1 -	TEMPORARY MULTI-POST SIGN (GROUND MOUNT) - First Offer	\$5,700.00	1/ assembly	\$5,700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
T2114027C1 - -01-55	AUDIO-VISUAL RECORDS - First Offer	\$8,600.00	1 / lump sum	\$8,600.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	
T2114027C1 -	PREMIUM FOR INSURANCE AND BONDS - First Offer	\$5,000.00	1 / lump sum	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:	

## Offer Total

\$3,149,811.8997 (Does not apply to percentage or no price items.)